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‘Sometimes factualy,prtty often) we il encounter datathat has a nonlinear relationship,

I orde toanalyze this non-inear data using our inear toos, we have totransform the data
witha mathematical functon for the relationship between the two variabes to become.
approximately incar.

Ex:There has been  zombie outbreakin the USA. Mrs.Skaff ws ableto gather th following.
data bfore tuming into Zombiehersel @ You (s  class of statistcans) have been asked to
precictthe# of Zombies that will be pesent 28 daysater the intia outbeak.

[iéor [wzombier

Itlooks exponentl,we can verty this by clcltingth atiobetween the values at each
5.3/ . the same for each pairof y aues, we ae ooking at QYRR grovtn
ordecay.

obiouslynotinear,butf you ok a the residual lotand e can gather more
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Notice that we took the aturs logaithm of the ', but not the . We can trasform our
data sing this knowedse. G
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Wewillookatone other non-inear relatonship tht ften occrs

On uy 312005, ateam of astronomers annourced that they had discovered what appesred
%0 b a new planetin ou solar ystem, They named the possible planet Xena. Xena s 3t an
werage distance of 85 bion mies Assuming Xena i a planet what would you predictts
period of revolution to be? (Y. the discovery of Xenafd to Plto'sdemotion  and it was
ecided that both Xena (now named Ers) and Pto were “dwar planets’)
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s defnitely ot near... s aiso definitely not exponentia.
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Notice that our linear modelincludes taking the natural logarithm of BOTH xand . Lets
applythis and transform our planet data. o
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